FgArea: [0 ]
NC11 P3-13
2025-05-19 (Day 49)




f ————
-9
[ o ——
C=
=2
0
B
o o o o o o o o
o o o o o o o

50

40

30

20

10



VN

1

——

T
50

T
40

30

20

10

1400 -
1200 -
1000 -
800 -
600 -
400 -
200 -



——
T
20




o 1 VI vs Du o
1400 - {_ J {
[ X )
o
1200 - { S
1000 A
800 -
a°
600 -
(
N E
400 o .’
200 ‘ .
[
o
0 - ()
T T T T T T
500 1000 1500 2000 2500 3000

DU




FR

30

20

10

0.2 -
0.1 4



30

20

10

>
s
(]
(]
—
——
+
T T T T T T T T
o o o o o o o o
© < N o © © < N
— — — —



1 (fgArea = NA)

| | T
—@— ECI*10% :
—®—  ECO I
6000 4 L
1
o |
° I
5000 ]
1
1
1
1
4000 i
1
1
1
1
1
3000 :
1
1
1
1
2000 1 o I
1
1
0 10 20 30 40 50



—&— PHI*10%

754 —®— PHO

7.0
6.5 1
6.0
5.9

50

40

30

20

10
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Plot Sensor and FgRec Data

dFVvi
dFVo

ann—a—aE—o— G @& 00— & & &

——
+

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

day

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

day

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

day

0. 04 -
0.02 -
0. 00 -
0. 02 -
~0. 04 -

300 ~

275 -
250 ~
225 A
200 -
175 -
150 ~

180
160
140 -
120
100

0. 6505

0. 6500 -

0. 6495

0. 6490

0. 6485 -

0. 6480

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

day



['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

lopt |

——  Topt

RH
RHopt

—— ETcl

optETcl

LAT ]

optEtRate

175

150

125

100

75

50

25

\\ e o s 0 s
/ = = = = =
\MV N
\ N 2 “« 2 2 2 2 .
_3
MWWWWWM < < < Q <
h||.|\L R a o R S
AW
I
o o o o o
S S S S S
w _ \
—
‘U
.A”un
[ <
== —
— Av Au // W
¢
- 2 =
T MW . W” .WWMWM MMMM
o ] o Q o o o .M\\
e —— ”MW IIIII s S Sy Sy m— p— s =>_1— v N S ee— r> T S e rs S o o =
\N- -V. Hv
—
M — , — |
—————
' H
[{9) [{9) [Te] [Te] [e)
MMA! BN — Qh ~ X «
} <L
m \\ < Iv \
T — \
— el
> ———
= v < m-
— o 7 o o o o
o o o o o 1B o 1’ o 1’ o 1 o o o o o o o o o o o o 5 o > o 0 < N o © © < N
S S S S . =3 o ~ 173 s 4 S S S S . 8 . . . 8 . . . .
- & I - g T B8 9§ g = w8 o S o S 3] ™ N i —_ —_ o — —_ - o o =} o



250

200

150

100

50

Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]

I

[

' i 4 ) = - e
- e
ard | o !
A =8d N l
o |l a4 x H —8— setVl_ETcl
: —0— setVl _fgRec
N -9 S8 ) I —8—  setVI_WN
- Sg 7 I —8— siSetVl
| 1 |
10 20 30 40 50 60




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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50.

50.

m=585, FV0=0
—e— ME
585 590 595
m=885,m FV0=0
—— ME
885 890 895
m=485,m FV0=0
—— MW
485 490 495
m=805,m FV0=0

- MW

iiiy

805 810 815




m=885, FV0=0

52.0 -

51.5 -

51.0 A

50. 5

50. 0 -

49.5

——

M_W
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T
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T
895

m=935, FV0=0
52.5 4 e MW
52.0 A
51.5 4
51.0 A
T T T
935 940 945
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P3-13

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

07:50 294 150.0 (2 =| 1BRi%e07:50 Bz (kHBHERSE)
08:15 294 150.0 |Z=| 1Ri&e08:15 Bzl (KPB{EEEE)
09:20 294 150.0 |Z=| 1Ri&@09:20 Bzl (kEA{EEEE)
10:15 294 150.0 (2 =| 1BRi%e10:15 Bz (kAFERSE)
11:20 294 150.0 BE| BRi%el1:20 Bz (GGREAERESE)
12:35 294 150.0 S| Rige12:35 Bz (REERSR)
13:35 294 150.0 | Ri%@13:35 Bz (REAERESE)
14:45 294 150.0 BS| 1Ri%e14:45 Bz CGREAMEESE)
23t 2352.0 (8%) 1200. 0 3233 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (191.0 :

PRIAEBRIERE141.0 ml.

H[E]RECE (2660. 0 vs 5730.0) 5

141.0), AlEEHT—R L XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RMELK KA, /T
[E&EC 5730.0 K5, #iYF{KECAE&MikE R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=47 (2025-05-17)

150 A

100 A

50

V1, VBP®RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1400
169 1100 128

194 Warning: lcol [FVI',| "FVO’'] missing 190

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
300 -

200

100 A

By lnit@D49-16:17: ET=1417 Fg=1800.0 Ro=458.0

- 2000

- 1000

cumET (ml/plant)

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 A

200

t)
I

AR AL AL AR AL A AR A AR AR A AR A AR AR A AR AN AN

ByEt @47 19:06: ET=1126 Fg=1128. 0 Ro=nan

- 2000

- 1000

cumET (ml/plant)

e —— S ]\r\\.\

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

il

U R EFAEZAEZIES

200

100 A

1.0 A

E3 ES — — — — ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 FREERE A ERREEAES B 5 G A B 5 G A B B B G

M

ByWoFv @D49 16:17: ET=991 Fg=1200. 0 Ro=293.0

- 2000

- 1000

cumET (ml/plant)

0.8

0.6

0.4+

0.2~

0.0
2000 |

| _obs
PPFD_obs




m=495, FV0=0 m=545, FV0=0 m=610, FV0=0

36. 25

35.0 - . M_E - M_E 36.5 1 - M_E
36. 00 -
34.5
35. 75 A 36.0 -
34.0 A 35. 50 A
35. 25 A 35.5 A
33.5 1
35. 00
33.0 A 34. 75 - 35.0 A
T T T T T T T T T T T T T T
500 600 700 800 900 495 500 505 545 550 555 610 615 620
m=675,m FV0=0 m=745,m FV0=0 m=805,m FV0=0 m=865,m FV0=0
50 —@— ME —— ME —o— ME 3.0y o &
' 36. 5
25 36.5 -
36.5 A
.00 ~ 36. 0
36.0
.75 1 36.0
50 - 35.51
35. 5 1
.95 - 35.5 -
35.0 A
T T T T T T T T T T T T T
676 678 680 682 745 750 755 805 810 815 865 870 875
m=925,m FV0=0 m m=495,m FV0=0 m=545,m FV0=0
37.04 —®— ME 51 - 07 e ww 51.0 - - MW
50 - 49 50. 5
36.5
49 - 50. 0 A
36.0 8
) 48 - 49.5 A
47 47 4
35 5 _ + M_W 49 0 .
925 930 935 500 600 700 800 900 495 500 505 545 550 555
m=610,m FV0=0 m=675,m FV0=0 m=745,m FV0=0 m=805,m FV0=0
50.0
.0+ -@— MW 51,04+ —@— MW -@— MW 50. 5 A -@— MW
49. 5
50.5 1 50. 5 A 50. 0 A
i 49. 0
50.0 50.0 - 49. 5 1
49. 5 48. 5
49.5 - 49.0 A
49. 0 48.0 -
49. 0 A 48. 5 1
48 5 L T T T T T T T 47 5 T T T T T T
610 615 620 676 678 680 682 745 750 755 805 810 815



m=865, FV0=0 m=925, FV0=0

1 —@— MW —0— MW

50.5 51.0 A

50. 0 A 50,5 -

49. 5 ~
50. 0

49.0 A
49.5 A

48.5 A
49. 0 A

48. 0

T T T 48.5 T T T
865 870 875 925 930 935
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P3-13

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE

07:25 300 150.0 s {Ri&e07:25 Bl (REAEESE)
07:30 300 150.0 RE| {Ri%&e07:30 Bz (REERS)
08:45 300 150.0 RS {Ri%@08:45 Bz (REEEE)
09:35 300 150.0 |Z=| 1Ri&@09:35 Bz (KPBEEE)
10:20 300 150.0 (2 =| 1BRi%@10:20 Bz (kAFERSE)
11:05 300 150.0 (B =| BRi%e11:05 Bz (kBFERSE)
12:00 300 150.0 |Z=| 1Ri&e12:00 Bz (KREBEEE)
12:55 300 150.0 (Z=| 1Ri%@12:55 Bz (REERSE)
13:45 300 150.0 (2 =| 1Ri%e13:45 Bz (kBFERSE)
14:40 300 150.0 |Z=| 1Ri%e14:40 Bz CGREERESE)
2311 3000.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.6

TERRHLER 2 STEIEART (195.0 :

ZRIAEBRIERE144.0 ml.

B RECE (2660. 0 vs 5455.0) 35

144.0), FlEEHT—R % XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RMELK KA, /T
[B&EC 5455.0 K&, #iYF{RECAE&FikE R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=46 (2025-05-16)

R S i et
VI, VO PRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 11400 307

50

192 Warning: lcol ['FVI’,

"FVO' ] missing

- 2000

1400 440
141

- 1000

194

¢ o vi

100 A

Warning: lcol ['WC1’,

"WC2' ] missing

L
— ME 438

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300 § Bylnit @49 16:17: ET=1349 Fg=1800.0 Ro=474.0
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ByWoFv @D49 16:17: ET=1141 Fg=1500.0 Ro=394.0
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—— RH
404 @ RH_obs
[ ) RHo_obs

31

e v P

FRV (ml d-1)
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36.

36.

36.

36.

35.

35.

35.

37.

37.

36.

47.

46.

46.

45.

45.

44,

44,

T T
600 800

m=635,m FV0=0

75 A

50 A

25 -

00 ~

75 -

50 A

25 A

——

635

6&0 6&5
m=845,n FV0=0

——

845

8é0 865
m=465,n FV0=0

——

465

470 475

35.

34.

34.

33.

33.

37.

36.

36.

35.

37.

37.

37.

37.

36.

36.

36.

45

45

44

44

m=465, FV0=0

4%0 4%5
m=690,n FV0=0

690

695 700
m=890,n FV0=0

75 A

50 -

25 A

00 ~

75 -

50 A

25 -

——

890

865 960
m=515,n FV0=0

.9 A

.04

.9 A

.01

—o—

515

520 525

m=515, FV0=0

36. 00

35.75

35. 50

35. 25 A

35. 00 ~

34.75

——

5é0 5é5
m=745,n FV0=0

37.0 A

36.5

36. 0

35.5

760 7%5
m=960,n FV0=0

37.5 -

37.0

36. 5

9é5 9%0
m=580,n FV0=0

47.0 A

46.5

46.0

45.5 -

45.0 -

44.5

——

585 590

m=580, FV0=0
36.5 -
36. 0
35.5 -
35.0 A
5é5 5é0
m=800,n FV0=0
37.0 A
36. 5 -
36. 0 A
35.5 -
865 8%0

600 800 1000

m=639,m FV0=0

47.5 A

47.0 -

46.5

46. 0 -

45.5 A

45.0 -

-o— MW

640 645



m=690, FV0=0
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46. 0
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—— MW
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T T
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m=890,m FV0=0

50. 0

49.5 A
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—— MW
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T
895 900

m=745, FV0=0

44. 25 A

44.00 -

43. 75 A
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43. 25 A

43. 00 A

—O—

M_w
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T T
750 755

m=960,m FV0=0

50. 5 A

50.0 A

49.5 -

49.0 A

48.5 A

48. 0 -

——

M_W
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m=800, FV0=0

48.5 -

48. 0 -

47.5 -
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46.5 -
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T
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m=845, FV0=0
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T
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P3-13

BfiE) | EBIETK (D) | ElE (EH/HK) | XK EFE

07:10 294 150.0 (2 =| 1Ri%e07:10 Bz (GkBERESE)
07:15 294 150.0 | =| 1Ri&e07:15 Bz (KRBEEE)
08:25 294 150.0 (2 =| 1Ri%e08:25 Bz (FkHBHERSE)
09:15 294 150.0 FB| {Ri&@09:15 Bz (FAFERESE)
10:00 294 150.0 el Ri%@10:00 Bal (REAEESE)
10:35 294 150.0 RE| {Ri&e10:35 Bz (REERS)
11:25 294 150.0 BE| BRigel1:25 Bz (GREAERESE)
12:25 294 150.0 | Rige12:25 Bal (REEESE)
13:10 294 150.0 B 1Rige13:10 Bzh (REEESE)
14:05 294 150.0 BS| 1Ri%e14:05 Bz (GGREMEESE)
15:10 294 150.0 S| Ri%e15:10 Bz (REERESR)
16:15 294 150.0 B 1Rige16:15 Bzh (REEESE)
249t 3528.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

MEREHERE STMAEARS (195.0 : 144.0), AREHTF—RE XAH4
ZRIASERRIERE144.0 ml.

REXEEBIEC (2715.0) 5% FEEC (2000.0) REKR KA, FHE

[Bl7&EC 5265.0 K&, EiXFKECAE&iHikER

HEERECE (2715.0 vs 5265.0) 5



P3-13_0, Day=45 (2025-05-15)

1 e g g e S S B B g g
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET

100 A

955

710 91

50

70

Warning: lcol [FVI',| "FVO’'] missing

- 2000

- 1000

( o v
200 ~ FRV

100

FRV (ml plant-1)

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

300 -

200

100 A

ET (ml/hr/plant)

Bylnit @49 16:17: ET=1329 Fg=1737.0 Ro=425.0
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ByEt @D45 18:55: ET=1476 Fg=1560.0 Ro=nan
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ByWoFv @D49 16:17: ET=1308 Fg=1800. 0 Ro=466.0
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T T
800 1000
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75 -
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42

40 -

-— MW

i)
i
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m=495, FV0=0

31.5 4
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M_E
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00 -
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GéO 6é5
m=885,n FV0=0

00 -

75 -
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00 -
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50 -
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m=495,n FV0=0
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43 A

42 -

41 -

40 ~
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m=555, FV0=0
—e— ME
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0 -
5 -
0 -
555 560 565
m=735,m FV0=0
0ol —&— ME
5 -
O -
5 -
735 740 745
m=940,m FV0=0
ol —e— ME
5 -
0 -
5 -
940 945 950
m=555,m FV0=0
—— MW
44 -
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41
555 560 565

34.

34.

33.

33.

32.

36.

35.

35.

37.

37.

36.

36.

36.

36.

m=590, FV0=0
57 —e— ME
0 .
5 .
0 .
5 .
590 595 600
m=790,m FV0=0
—o— ME
0 .
5 .
0 .
790 795 800
m=995,m FV0=0
25 - —o— MNE
00 -
75 -
50 -
25 -
00 -
995 1000 1005
m=590,m FV0=0
—— MW
46 -
45 -
44 -
43 -

590 595 600




m=635, FV0=0

46

45 -

44

43 A

—o—

M_W

6&0
m=845,n FV0=0

635

T
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47.0

46.5

46. 0

45.5

45.0

44.5 -

—o—

M_W

845 850

855

m=675, FV0=0
—— MW
47 -
46
45 -
44 -
675 680 685
m=885,m FV0=0
—— MW
47 -
46 -
45 -
885 890 895

47.

46.

46.

45.

45.

44,

48.

47.

47.

46.

46.

45.

45.

m=735, FV0=0

——

M_W

T
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7&0 7&5
m=940,n FV0=0

—0—

M_W

T
940

T
945 950

m=790, FV0=0

47 -

46 -

45 -

44 -

—0—

M_w

T
790

7é5
m=995,n FV0=0

T
800

48.5 A

48.0

47.5 A

47.0 A

46. 5

—— MW

T
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T
1000

T
1005




